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元の米をxとおくと、初年度は２割利息が付くので、1.2xとなる。
また、2年目の利息は元のお米に初年度の利息を足したものの2割5分なので、1.2x+0.25×1.2xとなり、計算すると1.5xになる。
3年目も同様に2年目までの総量をたしたものの1割5分なので、1.5x+0.15×1.5xとなり、計算すると1.725xになる。
お米の合計の150と1.725xは等しいので、1.725x=150となり、計算するとx=86.95652となる。
そして、初年度、2年目、3年目の割合にその時のお米の量をかけると利息の量が求められるので、
初年度は0.2×86.95652=17.39153
2年目は0.25×(17.39153+86.95652)=26.08695
3年目は0.15×(17.39153+26.08695+86.95652)=19.56521
となり答えをまとめると、
元のお米は86.95652石
利息の量は、初年度17.39153石

２年目26.08695石
３年目19.56521石となる。

2問目は
1両=4分から、利息の2両を分単位になおすと、8分となる。これをもとのお金の100両に割ると1分あたりのお金の量を知ることができるから、
100÷18=12.2 よって、12両2分で1分の利息が付く。
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問

米
が
あ
る
量
あ
り
、
そ
の
米
に
三
年
に
当
た
り
利
息
を
と
っ
た
。
利
息
の
取
り
方
は
複
利
式
で
、
一

年
目
に
二
割
、
二
年
目
に
二
割
五
分
、

三
年
目
に
一
割
五
分
で
あ
る
。
そ
し
て
、
元
々
の
米
の
量
と
利
息
全
て
を
合
わ
せ
る
と

百
五
十
石
に
な
っ
た
。
元
々
の
米
の
量
と
、
一
年
目
、
二
年
目
、
三
年
目
そ
れ
ぞ
れ
の
時
点
で
の
米
の
利

息
は
い
く
つ
か
、
求
め
な
さ
い
。

答
え

初
年
度
の
利
息

十
七
石
三
斗
九
升
一
合
三
夕

二
年
目
の
利
息

二
十
六
石
八
升
六
合
九
夕
五
才

三
年
目
の
利
息

十
九
石
五
斗
六
升
五
合
二
夕
一
才

元
の
米
の
量

八
十
六
石
九
斗
五
升
六
合
五
夕
二
才

解
き
方

問
題
よ
り
、
初
年
度
は
二
割
の
利
息
が
付
く
た
め
、
元
の
米
を
一
と
す
る
と
、
十
二
割
と
な
る
。

ま
た
、
二
年
目
の
利
息
は
元
の
米
に
初
年
度
の
利
息
を
足
し
た
も
の
の
二
割
五
分
で
あ
る
た
め
、
十
二
割
に
十
二
割
五
分
を

掛
け
、

十
五
割
と
な
る
。

三
年
目
も
同
様
に
、
三
年
目
の
利
息
は
、
二
年
目
ま
で
の
総
量
に
三
年
目
の
利
息
一
割
五
分
を
掛
け
た
も
の
で
あ
る
た
め
、

十
五
割
に
十
一
割
五
分
を
掛
け
、

十
七
割
二
分
五
厘
と
な
る
。
こ
れ
を
百
五
十
か
ら
割
る
と
、
元
の
米
の
量
が
分
か
る
。

元
の
米
に
二
割
を
か
け
、
初
年
度
の
米
の
利
息
の
量
、

元
の
米
に
初
年
度
の
利
息
を
足
し
た
も
の
に
二
割
五
分
を
か
け
、
二
年
目
の
利
息
の
量
、

元
の
米
に
初
年
度
と
二
年
目
の
利
息
を
た
し
た
も
の
に
一
割
五
分
を
か
け
、
三
年
目
の
利
息
を
知
る
こ
と
が
で
き
る
。

問

百
両
の
お
金
に
、
一
ヶ
月
で
二
両
の
利
息
が
付
き
ま
し
た
。
こ
の
時
、
何
両
何
分
で
一
分

の
利
息
が
付
く
か
、
求
め
な
さ
い
。

答
え

十
二
両
二
分

解
き
方

利
息
で
あ
る
二
両
に
四
を
か
け
、
こ
れ
で
百
両
を
割
る
と
、
一
分
当
た
り
の
お
金
の
量
を
知
る
こ
と
が

で
き
る
。

Question1

The quantity of rise that are caught for three years and the quantity of

rise from the outset are150koku.

However first year’s caught rice is 20％ of 150koku. Second year’s caught

rise is 25％ of last year’s rise. Third year’s caught rise is 15％ of last

year’s rise.

How many the quantity of rice from the outset?

Answer

First year is 17koku 3to 9syo 3seki

Second year is 26koku 8syo 6go 9seki 5sai

Third year is 19koku 5to 6syo 5go 2seki 1sai

Quantity rice from the outset is 86koku 9to 5syo 6go 5seki 2sai

Process for answer

According to question, the rice bears 0.2 interest in first year. Therefore,

if we make a former rice is 1, it represents 1.2(We call it A). 1.2

multiplies by 1.25 makes 1.5(We call it B) because amount of interest at

second year are the A multiplies by 0.25.

1.5 multiplies by 1.15 makes 1.75 because amount of interest at third

year are the B multiplies by 0.15.

After that, we can know quantity rice from the outset for 150 divided by

1.75.

We can know amount of interest at which time the first year by the first

rice multiply by 0.2(We call the first rice plus amount of interest at

which time the first year A), amount of interest at which time the

second year by A multiplies by 0.25(We call it B) and, amount of interest

at which time the third year by (A+B) multiply by 0.15.

Question 2

The interest of 100ryo is 2ryo per a month. How many ryo do you need

when the interest is 1bu？

Answer 12ryo 5bu.

Process for answer

2ryo, the interest for 100ryo, multiplied by 4 is 8. We can know that the

money for 1bu as 100 divided by 8.
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The unit of the money

This problem’s unit of the money

Kin 1𝑟𝑦𝑜=4𝑏𝑢

1𝑏𝑢=4𝑠ℎ𝑢

1𝑠ℎ𝑢=4𝑖𝑡𝑜𝑚𝑒

By the way, now the price of the rice is 5kg per about 2,000yen.

Because 1𝑟𝑦𝑜=1𝑘𝑜𝑘𝑢 (150kg), 1𝑟𝑦𝑜 is 60,000yen. However, public
opinion and economy are different. So this cannot be said true.

Gin 1𝑘𝑎𝑛=1000𝑚𝑜𝑛𝑚𝑒

1𝑖𝑡𝑜𝑚𝑒=10𝑏𝑢

1𝑏𝑢 =10𝑟𝑖𝑛

1𝑟𝑖𝑛=1𝑚𝑜𝑢

Sen 1𝑘𝑎𝑛𝑚𝑜𝑛=1000𝑚𝑜𝑛

Syou-sen 96sens=100𝑚𝑜𝑛

Chou-sen 100sens=100𝑚𝑜𝑛

問一はある一定の量の米の中から、利息の量と利息を引いた米の量を求
める 問題である。
問二はお金に対する利息の割合を求める問題である。

Question 1 is the question which find that amount of interest

and quantity rice from the outset.

Question 2 is the question which find that percentage of

interest for money.

英訳はとても難しかったが、協力して終わらせることができ、グループ
で活動する楽しさを知ることができた。
また、昔の人も今と変わらず数学を楽しんでいたのだと思った。

Translation into English was very difficult, but we could

finish in cooperation with our group. So we found that the

pleasure of act in a group. And math is enjoyed by people in

all ages.

英訳に時間がかかってしまった。
今後は英訳しやすいように主語が明確な現代語訳をつくることや、単語
や熟語を学んで語彙力をつけることを心がけたい。

We took a lot of time to translation into English.

It is necessary to make modern Japanese writing whose

subject is clear and to enrich English vocabulary.
Group leader Yanagita

A person in charge: Naruo,Nakamura

A person in charge: Naruo,Nakamura

係 松田

引用
算法勿憚改
延宝元年 A.D.1673
著者：村瀬 義益 Author:MURASE,Gienn

English translation英語訳

江戸文化

英語訳

Edo culture

Summary・Future challenges・Thoughtsまとめ・今後の課題・感想

English translation


